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30r41200/1 Zurzrl uru urnp, qp tu uhhltutr urrhh uu hurtn 2450 2 4,9
30199792/1 OTrurqnrlq uu Zruur 800 J )4
30192125t1 Uurnhhn uu Zurur 140 5 0,7
30199420/1 Lrnr-rfh rdnrnp UU Zuur 800 20 I6
3019723r/1 Srull uu SnuJr 1100 35 38,5
39263200/1 QnuruthrruLturhh qhnp UU Zrutn 760 25 19

30192130/7 Uurr.nhur uu Zurur 100 94 9,4
30r92r33/r - uFh: uu Zunn 300 10 3,0

39241260t3 Qpuruhtrlur\rulfrh 4urhur\fr uurlphp uu Sr.4 350 1 0.35

30192100/1 fthrnlrh uu Zuln 100 40 4,0

301,97230tr flnBruuluhurlt uu Zrutn 400 277 840
30197230/2 Upurqur\rup UU Zrurn 100 300 300
3OI92I2I/I enhl uu 2uln 60 200 12,0

3019762211 fdnr-nra U4 uu Zurur 2000 200 400,0
30199340/1 lhurpnr4p -uu Zuru 10 700 7,0
30197rr2/1 ! urpfrl|llhuiur4 tu1 urphltrruuf hn, rlhlhtr uu Snrrh 120 10 1)

3079723217 Oq purq ruhu\, L1 n2url1 urq ilnr] (huruur)
UU 2urur 800 30 24,0

16161 100/3 ur1 1 qruhurqruh url qtqnpbru\url:
uurnpunlnrrnulhhn

uu
uu

2uln 2000 2 4,0

I6t6rt00/4 u1 1 qurtrruqrutr url qhqnpbur\urh
urunpurrlnnnrritrhn

uu Zuru 1000 5 5,0

421311001r rhu:htuhh hn' nutrr qnnbu nnrtBhhnh uu Zrutn 3500 6 210
3432772117 ull urnr.lhphhtuhhnh rnrnh quhlhhn uu 2uln 1000 2 2,0
34321270t1 unlrnnritpttruhhp| tup4|rur\ruhurgr.truh

hrurlurprubnr-hhn
uu Zurur 4500 1 4,5

3r7rr330lr r.lur\nurrtf ur1 |rh tq nriul hp UU Zunn 270000 I 27,0
0973220011 fhhqhtr, nhqntllrup uu L 450 200 90,0



0941 1500/1 dhBurh qurq uu funn il 200 1200 240,0
0941 1300/1 r:lrrnr:lurh qurq uu L 240 240 57,6
09134240/1 nhqht ulrhh rlurnhr hp, urilurnurrhh uu L 450 100 45,0

09217110/7 rurndhlh lmnhn UU L 1600 12 19,2
2495132011 hurLruuurnhl hhnnrt uu L 1000 5 5,0
0921t650/1 urnqhrurLh hhnnrlr UU 2unn 1000 I 1,0

30234620/1 Srhr hhrnnnrralnrh uu Zuln 4500 2 9,0
39221420/1 funqurhurt uruturhnt uu Zruu 2000 2 4,O

3922433r/7 tlntll tulurutniluruh uu Zuru 1200 4 4.8
4441175I/T uurhhurhqlr-tqh nurph uturnuqurtrtn LIU Zurtn 5500 2 11,0
445rrt20/r QnqurEhurt tiu Zunn 2000 3 6.0
30192910/r nunht hnhqhhn bull duuuullhhhhn uu Zuru 350 10 3,5

42t37430/l rhurLurhhhnh rurndurhhhn uu Zurur 1500 4 6,0
44423600/l dulrluLlhh tulynrh uu Zruur 800 70 56.0
44423600/2 nnr hrltnur runnrtn dulu ullhh uu 2rutn 450 25 tl.25
342272501r hqnnnLhnh h Lhuurhqnnnhhnh iluruhn uu 2urtn 100 130 13,0

t842rr30lr 2hnhno nurhrlnnurburh uu 9ntrq 300 100 30,0
r842rr30/2 2bnhnq urhurhuurluh uu 9nrq 250 r40 3s.0
t8t77200/2 trurhr] nnurt urh unr.nhurqrluln uu Zurur 5 5000 25,0

I81II2I0/1 trurhrlnnurhurh hmlnhhhqnh uu 2utn 5 12500 62,5

18441190/1 'IlturrnuruLht qtluurnh u ltuurrrrluruh UU 2unn 5 2000 10,0

33147729/1 'Tlurruruurhhl nhilurb u I uuuriluruh uu Zruur 5 2000 10,0

18427730/2 trurhrlnnurturh &tnhnq uu 9nrtq 20 400 8,0
t842r130/3 flturlhnurtnnn uu Zurur 5 1000 5,0

18100000/1 trurhrlnnurturtr hnrhh uu 9nrrq 2 6500 13,0
18100000/2 trurhrlnnruturh trnrhh nhtnhhh uu 9nr-ra. 3 3s00 10,s
18931 130/1 'Tlurnh urll.nhuurLuh uu Zurur 100 2s0 2s,0
33761100/I 9nrq.Bnrnra uu Zurur 90 1200 108,0

7842113011 2hnbnq ndrhurhurtr uu Zruur 30 800 24,0
42131100/2 OurLruh rrnruh uu lurur 5000 ) 25,0
42r3rr00/4 'Inurh rhruLurh hhnphh uu Zunn 8000 2 16,0
42137430/r rhurhurhtrhnh zurndurLhhn uu Zuln 2000 4 8,0
33141 1 18/1 Uh&hnnqhb uu Zurn 200 85 17,o
395t4400/r faqptur uFph) uu Zuln 600 40 24,0

39831282/r hurhnrtptfurpnhtnL lulta uu 2rurn 160 85 13.6
39831240/1 drupnnn hrnr-rohn uu 2uln 350 40 t4,0
3983r242tr rrlurqph rhnrh &hnpnrl rrlurhurrnr hurtlurn UU Zurur 400 30 12,0

1964t000/1 ulnf hhphf hhurlhh uturp!, uqFh hunlurp uu 2unn 600 t5 9,0
39831283/1 hunnurLh r rlurqilurh rurn uu Zurur 760 35 26,6

3983124r/1 thnplr odurn UU Zurtn 100 300 30,0

3983124012 tfurpnnn htnrrahn .uu Zunn 260 110 28,6

39831245/1 Zhnntt odrun uu 2uln 550 46 25,3

39221410/1 Urlhr uu Zuru 1000 20 20,0

031 1 1250/1 trurtlnurb uu Zurur 200 500 100,0
39831240/3 ilurprrnn htnr-Bhn UU Zurr.n 570 7 4,0

34921440/7 purrlnhhhplt lt *ttFh tnurpurhhp h
urnpullurhhhn

uu Zrurn 3000 1 3,0

3019279017 (DurtturBhBhn uu @ru1a 1000 5 5,0

19241200/l tuunlunlnn qnnbdulbphhn uu u 600 15 9,0

3I2III4O/I h.ullurhnrlhl uu Zuun 3100 40 r24,0
3972rs00/r Surpurgnrolrl uu Zruur 6500 I 6.5

3972rs0012 Surpurqntqht uu Zurut 27000 4 108,0
3843t570/L h.uurrhb uu Zurtn 6200 15 93.0
38437570/2 h.uurrht SZ 2utn 15000 30 4s0.0



31686000/1 funno uu 2unn 350 18 6,3

31s31710/1 tlnnuht tnrururnnrh uu Zuru 900 10 9,0

3121 1 180i 1 hr. Uhqutnhr 1 rnhnruhh uu Zurtn 1000 45 45.0 '
3r2ttr80/2 Urlurntlurur urhquruhr 25A uu 2rutn 3000 15 45.0

3121 1 180/3 Urlr.nnrfurr.n urhqulnhr hnur$urq uu Zurtn 7000 8 56.0

3l2rrr80/4 Urlurnrfurr.n urhquruhrh urnuh uu 2rurn 4000 2 8.0

3121 1 180i5 Urlurnrlunn urhounnhrh tnntrh 6 uhn uu Zunn 3500 4 14.0

3l2ttr80/6 UrlurnrJunn urhquuhrh urnuh 12 urhn UU 2rutn 4000 1 4.0

3r2rrr80/7 Urhnnrluln urhqulnhrh tnnuh 3 uhn uu Zurtn 2000 1 2.0

315123601r rnr-uurn&ruthhn uu Zurur 4300 31 133,3

3r2rrt40/2 hr. Uruuhnilhr uu Zunn 2700 12 32.4

44141200/r ht.rnqurhurL UU 2rurn 550 18 9,9

31321200/1 h.I.urn uu u 250 400 100,0

3t684400/1 hr.rlurnnurlr uu 2uru 1000 75 75.0

3r572430/1 ht.turtlul uu Zurtn t20 370 44,4

44521230/2 UrlnurbrrunhN6 uu Zunn 10 100 1.0

31683400/1 bnrupur2]u[2{/uq- r/z uu Zurtn 3500 13 45.5

31683400/2 bnuprurtuhr il/r:r uu Zuln 4000 10 40.0

31687000/1 Ulrqnril {/u - r/z uu 2uln 1800 34 61.2

31512360/2 I-h+ tnruurn&urt uu Zuru 4800 36 172.8

3151236013 [-hn t nruurn&urt urnuruururnh uu Zuln 10000 J 30.0

39831245/2 Zhnnth odurn uu Zuru 2000 I 2,0

397r4220tr OnnnurLhl q2 Zunn 250000 I 250,0

397t4220/2 OnnnurLhr 12000 BTU SZ 2u:rn 220000 I 220.0

42911150/1 Onulhntuntpturh qurLq UU Zrurn 1s00 6 9.0

3363128217 hur\urpur\tnhplrurl il]r2ngtrhp'
uurnEhnurhurh oqrnurqnnbrlurh hurilurn

uu 2unn 4s00 3 13,5

2491t200/7 hrlmruhur UU Zruu 3800 6 22.8

444tI750/l Uurtrhurhqnlt qh gnurulrun uu Zuru 5000 3 15.0

44410000/r Uh$ntrh qrluht uu 2uln s00 10 5,0

44410000/2 9nrournrutrurLntrph uh$ntr(oa$nt) O 100 uu 2urtn 2800 2 5,6

44410000/3 9nrournurhurL nhph t unhurnhr uu Zunn 5000 5 25.0

t924t200/l Uru urLhnullEulh lul qrlnbrlurbp uu Zuru 4500 5 22.5

44831500/r I-n6hl0,5r g2 Zuln 800 42 33.6

384t1200/I Lr.ohnrlurrrurh uu Zuru 6000 3 18,0

42941160/3 flhnrlnuururur UU Zuln 13000 4 40,0

31 150000/1 hr.rannurnthr uu Zuln 2s00 11 27,5

44810000/2 Lhnlr uu Zurur 3750 I 3,8

42III2TOII Uhqbnnrlh uurthL uu 2uru 400 20 8,0

44t77100/r Zururur\fr uurfq qpurLfrurh 60x60 qz Uhuip/p
lltD.

8000 130 1,040.0

44161240/l dbnr-tr tunnnrlurL uu Zurur 1200 64 76.8

24911600/r unuhh&' ilntfhll.n uu 2urrn 1000 6 6,0

24917600/2 hruopuhrhh unuhb& uu 2uln 1500 2 3,0

24911600/3 Uurrhtrh unuhtrd. K 17 s2 uturnh 4200 60 252.0

2497760014 Unuhh& 2hnnrh rlhh uu Zunn 2300 20 46.0

43221100/1 €uurhurpplrl tiu Zrurn 1300 5 6,0

39227480/1 9ntqurpurhurlt"ltph |unqurtrur\ uu 2unn 1000 2 2,0

4361119017 funnnr,lurLh hquiluru uu Zurtn 500 600 300.0

44III4T6/T Lhnb durLtuururrhl: qz Zuru 21000 2T 44t.0
4441130011 I.r]urgurnurLl uu Zurur 28000 8 224.0

44411300/2 I-rl urqurnurh hnt urhnurtrh uu 2urur 3s000 2 70.0

4441130013 I-r.l urqurnurh b hnurttht ur! urh nurpnrl UU huur 20000 3 60.0

31711250/1 'Tlnr hdhnurrhh dtr rulunnnrl urLr uu u 400 270 108,0



44III4T3/1 LhnL rnrnurtrhnL uu Zunn 3750 4 15,0
44trr4r3/3 3nuurhhnh qt Zunn 8200 10 82.0
44III4I3/2 3nuurhhnL utuhrnrul; UU rrq 2162.2 3.7 8.0
44810000/1 Lhnh ruruhpu UU Zurtn 9500 10 95,0
4492rs00/1 Ohrhurtlurbhtr q2 'Tlurnt 4500 30 13s.0
4492t500/2 Ohrhurtlurbhh hull durrhh sz 'TIurnL 6s00 15 97.5
4492rrr0/1 Qhruu 2runuh sz 'ThunL 2400 30 72.0
44792400/7 Qurq sz 'ThunLr 1300 15 19.5

44111200/r Strihhut sz 'TlurnL 3000 40 120.0
t4271100/r Url*q qz 'TIurnb 250 160 40.0
44110000/r CnhaurL ururutnhL qz Zunn 750 40 30.0
44110000/2 Cnhzurbh bquriluruhn utr ruuuhL qZ Zruu 100 60 6.0
42131230/l Qurhurh qnh uu Zuru 2300 40 92.0
42131230/2 9nhrhruh rutrqtr+hU ull nn 3/n nnrl r-[ UU Zunn 3000 I 3,0
249r1200/l Unuhh& uurlhth uu 'rhunlt 4200 40 168.0
42III2IO/7 Uurt hL hnhuullururlurh uu Purn.rJ 5600 70 392,0
4265t200t1 'I1nrph1 uu Zuln 10 1400 14.0

44161240/1 funnnrlruh riltu uu u 360 200 72,0
4416124013 dLnrh hrnnnrlurL UU Zrurn 1000 2 2.0
4453116011 'Th.nnr-tnurh uu Zunn 4 3000 12.0
44531160/2 'Ihnnunur! uu Zrurn 10 1400 14.0
4431rt50/1 dtururn rut urh cnnbUurbphhn uu Zuur 50 400 20,0
39191100/1 Qhru u utnrl urnurranrah uurt ht sz Zuru 4500 25 112.5

42r3r490/r uh$nl: uu Zurur 1500 20 30,0
44117477/1 Lurhurhhnlr uu Zurur 3200 l0 32,0
44411100/1 Onnrulr UU Zurut 3000 20 60,0
4441r100/2 Onnurt rrlurqurnurLh 1 uhn uu 2urtn 3500 I 3.5

44411700/3 fu urnhhr bnnurL r rlurounruhh uu Zurur 1s000 2 30.0
4452t120/r @urLurtr nnurb UU Zunn 2000 7 r4,0
3I77t25011 'D-{€ hnnndurlr uu 2.urur 600 60 36,0
42991470/1 'D.I€ lunnnrlurhh hqurilulu UU Zrurn 360 160 57.6
3r711250/2 'tI.{€ funanrlurb O50 2il UU Zuru 1000 30 30.0
3r7rr250/8 llhtnurnurur uruurh lunnnilurb O20 'uu Zurtn 1000 100 100.0
243rrr20/l trntnph+ uu 9q 850 30 25.5
14810000/1 ZnhurBmlB UU U 2000 25 s0,0
14810000i2 'Tlunnh urhhtnr-hurh qZ Zrur.n 250 93 23.25
19642200/7 'IInr hkBhr hhurrhh raurn urhra uu Uhurn 250 30 7.5
14810000/3 &urphnh qulhq 5uilx 90il q, Zurrrr 1500 10 15.0

44331400/7 'tlnn$hr F47 uu Zuln 800 I2 9,6
44331400/2 'Ihnbhr F47 qZ Zuru 1000 10 r0.0
42731470/7 Onnubh tihqnrL .uu Zruu 400 20 8,0
42I3I47012 'Inurh rhurLurhh rihonrb 7uil uu Zuln 1800 4 7,2
447637IU1 Qnruhhnurqrlurh urnrfntht F150 UU Zunn 5000 2 10,0
44116200/r I-urlhhugrlurb 'IU'TI uu Zurur 31000 15 465,0
44rr7t00/r I.unfhhullqurE 'I-{'l uu Zuln 4300 10 43,0
30192233/l Uhrhlrntr uu Zunn 1000 10 10,0
39141 110/1 Uhnurhrubrublr uu 2urn 27500 6 165,0
39831283/1 Zururruhh rurra uu Zuru 1000 2 2,0
18841300/1 O'totth uu Zuru 200 70 14,0
44119700/7 t npruuurlurnurh UU Zunn 4200 4,2
44III4I2I7 Uhtnhhnn trbnlr uu 2unn 3250 2 6,5

39299200/r UruruLrh tiu €urn il 7500 10 75,0
4267t14011 hthturnnn uu Snuh 3800 4 15.2

42991420/l Qnh $hrurn uu Zurur 1 1000 5 55,0



35111190/1 @nthnrn rhhurnurnurt uh uu Zurur 2100 10 2t.0
39812100/1 Urubhh UU Zurur 4100 3 12.3

39r5r220/1 tlurhnttph tqunluru UU 2uru 2000 4 8,0
39151220/2 hurhnrrph rftuuhn LIU Zuln 1600 30 48,0
44192630/1 Zhnrntu uu rrq 1350 6 8,1

30t97231/1 'tlnr hkphr htrulhh raurn urtrro uu qbil 200 25 5,0
44192630/2 Zhnrntu-rfurhtlr uu Zunn 30 200 6.0
4442365t/1 llhurhLh rahnrahn uu 9q 2t60 40 86.4
44231200/7 Ourtrnh tnnunl uu TI 450 45 20,2
3919r400/l Zurtntu\fr burb\nr1p UU €urn.rf 1600 350 560.0

44521230/1 Utlnurh UU Zrurn 40 200 8,0
37777250/3 funnnrlurL ilhururnrur uu U 1200 100 120,0
3r7rr250/4 Uhurur4ulqlurutnh ]unrlmlur\ 1 6rlil, 95

urutnhdurh
uu u 400 20 8.0

31717250/5 Uhrnurnurut uruurh urhqnul 1/2 uu Zuru 2000 2 4.0
3r7rr250/7 U/ur urhqnrtl uu Zunn 3000 10 30.0
33621290/I Unnhhurrhh UU Smth 1580 1 1,6

243216601r .Fhuuur urtfhrnhn s2 Smth 68314 4 273,3
33591129/1 Lunnnhnulh prnnhn uu Zruut 450 2 0,9
3369rr2912 9rurqhnlilh prnnhn uu Unr.lurt 90 20 1,8

33t4ttr4/1 OuLqh$ uu u t20 30 3,6
33141 1 10/1 -{hnurburut uu Zurur 200 60 12,0

33691390/1 qlhulhut uu Zuln 21500 2 43.0

18141 100/1 2hnbnq qhhrftutr uu Smrh 2000 16 32.0
33691 133/1 Qnr-n unutrlurh uu Smtt 200 10 2,0
33t4r142/7 Lhnurnthl UU Zunn 50 30 1,5

33761260/l Uhu1Jrqf rnulFru uu Zuln 100 10 10,0

4419270011 LhnL urnunurL urtr ct urh uu Zurur 1800 6 10.8
4419270012 Lhnb urnurnur! urtr ct urL uu Zurtn 2000 10 20.0
44517340/2 Qurrhtnh uu Zurtn 1500 3 4.s
39221460tr Lhnh runrunurt urtr d n&hb .uu 2uln 700 6 4.2
39221460/2 LhnLrunrunrutruh rln&hh uu Zurur 1000 5 5.0
37451640/l rturnnn utul]urnurh uu Zurtn 1200 80 96,0
I452TT7I/I Znturpurn uu 2unn 3000 I 3.0
r4527t7r/2 Unurpurn uu Zrurn 1000 2 2.0
1831 1 190/1 fuurturB uh uu Zurtn 6000 1 6,0
7831tt90/2 fuurturB hrurunrtur uu Zuru 4000 t4 56,0
1831 1 190/3 fuuiturra ur:rhurruh UU Zuln 3500 62 217,0

1811 1200/1 trurhr.lnnruh rutr urntnurhurqilluln uu Itntftu 12000 9 108,0
1831 1 190/4 Furhrlnnruhurh luurt urra uu Zuln 3500 110 385,0
1831 1 190/s fu ur1 urp rlht urtrquriltur uu Zunn 500 10 5,0
1831 1 160/1 truhhr uu Zurur 25 200 5,0
I844IIOO/T trdrtrrubtuh qrturunb uu Zurur 25 200 5,0
33I4II29II 'IhduL pdrhurhurh uu Zunn 18 800 r4,4
03320000/1 UntL trupnnrurnnD uu 2uur 1000 540 540,0
03321800/1 durqun uu Zuln 1 1000 10 110,0

03320000/2 Unhtu uu Zurtn 1800 200 360,0
44rrr4s0/r Unurnh rur urt urtr urru urL h uu Snrrh 540 20 10,8
44171400/r Lnrpp pDnrfnrnnqnur$ BhBhn qz Snrr}r 46000 3 138,0
42I2TI5O/I Qplr r4nilr4 uu Zuru 25000 I 2s,0
331 1 1 100/1 llhtnnqhh lunnnrlurh q2 2unn 545000 2 1090,0
42t2t420/'l rrnr.iutntunn uu Zunn 22000 1 22,0



3t7rt330/2 l-ruEnnunnnn r] urh nrnril ru nrlu q2 Zuru 220000 I 220,0
r599r700/1 $itf-nh pnqp s2 Irq 3200 10 32.0

24321660/2 Snlnrll SZ L 1600 40 64.0
24321660/3 '\f dhtnf l$nprlurtllr4 se L 1900 40 76.0

24321660/4 rrurrhnrrlhhhnnnpuhn s2 9q 1190 50 59,5
24321660/5 €rnrrn$nnrf s2 9q 2500 60 150.0
2432t660/6 Zhpuurh SZ L 2400 90 216.O

24321660/7 Ughunh q2 trq 938 s48 514.0

24321660/8 'IhhBhrhBhn qZ Irq 6400 277 1772.8
1s91 1 100/1 .F d2\u\urLruq]rpur 9 60lo uu L 900 592 532.8

2432t660/9 $nr\ulrh hf ilLur3f h(hf uunlnqflu\urtr h
hlruurnpfrtffrur\urh hhuur qnurntpl nrhhhpfr
htudurn

g2 q 75 100 t.>

24327660/70 llhplrjn4rulftr s2 Irq 50000 27 1350,0

24321660trr rrurl[nuftubfuupp{u\urh / d (r4nuru2) qz rrq 800 50 40,0
24321660112 trhhqnr qz L 3000 400 1200.0
24321660/13 anftpflhLq$\n1 200 q2 q 80 250 20.0

24321660/r4 'ttnfrhp[r1hLqft \n1 a6oo SZ g 248 250 62.0

24327660/75 uhpflhh ptnFlr+ qz 9q 1000 50 50,0

24321660/16 Shurpr:rhfr4pnqf purh q2 L 120000 2 240,0

243216601t7 Uu\urpfr4 qt trq 10000 7.7 77,0

24321660/18 €urnurplnn urbtuurbhh q2 trq 10000 16 160,0
2432t660/19 Uuhurnhn s2 ka 10000 2,85 28,5
24321660120 lhrhnul utnrfilurb qruq tru tunn il 58928.5 28 1649.998
24T11160II Uontn ouro qe funn rI 1000 28,4 28,4
24rttr20/l Zhnnrt hhrhrul trU L r4400 650 9360.0

24IIIL70l7 Zhnnr-t ulqnu gz r 400 2600 1,040.0

24IIIL8O/I fdBrlurbhh qurq qz Furrnh 3500 50 175,0
2432166012r SnhkBhr onBn$nnrihurur q2 Ul 39,4 s00 19,7

24321660/22 SnhhBhr onpnurqhuturn q2 UI 265 100 26,5

24321660/23 $nnrlullhn qz trq 53600 0,5 26,8
24321660124 Zhnnurqhh rlnhnhhnnurtn SZ 9q 80000 0,5 40,0

24321660/25 hqn-$purtturaronr s2 9q. 36s8s 6.3 230,48

2432t660/26 fdhurtlhhpnnilh+ 4.2 Irq 100000 3.5 350.0
24321660/27 'ttnft (af ilhpf 1ufrlopuurh) Eurlpur3frh

hhnnopuhr turlrtnnrl

q2 q 430 500 215.0

24321660t28 ttnflr (afdhpfrl-ufrlopuurh) burSpurlfrh

ullhhnrlnnrlht tuilphnnrl
s2 q 1750 200 3s0.0

24321660/29 N,N- +hrfhphr rurlhtrnphhq urt +hhhn q2 g 763.63 275 210.0

24321660/89 4-rltBhr urqhum$hhnh -95 o/o qt rrq 0,5 200000 100,0
2432L660190 2-qhb r nhhpuhh- 1 -OL-95o/o qz q 10 20000 200,0
24321660/91 _ hahrruqhtrrtuul qz I.htnn s0 1s00 75,0
243216001r trhhqhnhh qz tra 300000 2,0 600,0

24321600/2 trhhqfafh +hhb+nnplnnh+ qz trq 2s0000 1,0 2s0,0

24321660t26 'Ilhnurqnt qZ q 1500 100 1s0,0



24321660/27 1,2,4 -Shnurq n1 -CzHsNs 98olo qZ q 1020 100 102,0
24321660/28 Ur hr nnntlhn - CtHsBr 97 o/o qz Ur 120 250 30,0
2432t660129 '[pnqurpq[L FFndb4 CsHsBr80o/o urnlnrrrfr

lntbnup
SZ U1 600 250 1s0,0

24rtr120/r Zhfrnul purlnhnrl 99olo qe Zunn 320000 1 320,0
24321660/30 {lhnnt C4HsN98o/o SZ Ur 600 s00 300,0
24321660/3r Uqhunhhuplrl CzHeN99,Solo qz L 125000 2 250,0
24321660/32 Lppur2tpu ppnrfnunqp*$hutti,

rahBhntrhn
s2 S^.t 200000 1 200,0

24321660/33 Snhoudhnr-dh nnnhhurnphLar 98olo qz q 490000 I 490.0
24321660/34 'Ihtrohr htrqr hhnr h ilnhntihrahr hphn 99olo qz Ut 50 1000 s0.0
24321660/35 5, 1 0, 1 5,20 urhrnnur$hhhr unn$hnhh 98olo s2 q 8400 25 210,0
24321660/36 5, 1 0, 1 5,20 (uhurpur-ulurpu-rnnfrl)

qnn$hnhh 98olo

q2 q 7500 25 187,5

24311320/1 Uurhqurhf II plnp[4 MNCb 98olo s2 g 1080 25 27,0

24317320/2 €pnil|r II plnplr4 CrCb9So/o s2 q 2200 10 22,0

24321660/37 St urnruhhnnnrahn$ hh 9 9olo qt q 330 100 33,0
2432t660/38 3,4'Ihptnnpnrpth - 1 C+HoCb 98olo qz q 340 100 34,0
24321660/39 3hu-1,4-'Ihpr nnpnrBhh -2 CaHoCIz 95o/o qz q 3000 2s 75,0
24321660/40 1,3- rlhprnnpnrBhh -2 CeHtCb 95o/o qz 9q 3400 10 34,0
24321660141 alf pnl f af h ClHqI'{ 99olo q2 Ur 232 s00 I16,0
2432r660t42 Utnnrhh CeHqO 90olo qZ UL 60 500 30,0
24321660/43 Uhhhnnnh qZ 9q 30000 2 60,0

30237490/I Zulftu\tupqlr2-Unhlrurnp 4Gb 500G 21.5 q2 2,uru 300000 I 300,0

32420000tr rrgnp4flWIFI q2 Zturn 15000 I 15.0

30237200/1. iLurlu!uupq[5 qt Zuln 280000 1 280.0

302374r2/1 luniur\urpqlurlbh .Iqhhq qZ Zunn 6000 I 6.0

30237460/1 Zruilrullrunq)rulhL uuh4hur2urp q2 Zuu 4 4500 18,0

24321660/44 'Ihrphnurqilurb nhr.ihBhr unrr gopuhn qz kq 1s00000 2 3000,0

24321810/1 'Ihjphpurgrlrub plnpn$nprl s2 9q 285000 2 570,0

44171400/2 Lntpp ppnrfnunqnur$ phBhn qz Snuh 200000 I 200,0
24321660/45 'IhptnnkBurL s2 trq 2400 25 60,0

18931230/1 tlhrlunnnuJr uu hrurn 17 10000 r70,0

18931230t2 'Ihrpuurnulr uu huru 34 3500 119,0

39515410/1 Chprnur{urpurqnrlF uu il[ 12000 30 360.0

42967770/7 Unr-rnplrhu\n4nrp3 urtrhurdu\urpq uu hurn 165000 I 165.0

35721320/r uhuuluglrll uu hurur 20000 1 20.0

32333400/r Shuurqpnrpl nrhpqprutrgn4uurpp uu huln 100000 1 100.0

42961.r10/2 Unnnpfrhu\n4nrp1 urhhurilur\rup q UU huru 30000 2 60.0

18451 100/1 kndurll "uu huru 1000 2 2.0

22451170/I Uurqh[ruur\urhpurprn uu huru 600 15 9.0

377s7120/1 Ul-rfu urrJrurhuhnrgrluhuurpp uu hurur 30000 2 60.0

42r3r700/3 Our\urh (tturqtrfruur\urhrJrur\urh) uu huln 23900 2 47.8

44322100/r - Uurlnrlu uu iltrnp 200 20 4.0

37227220/7 Sn trlni urpr-iulr hruriurp uu hunn 400 18 7.2

32333400/2 Shuurqrnrpl nrhpqpurhgnluuFp uu huru 35000 1 35.0

30232231/r 9n2rnu\ullurnur\ uu hunn 30000 I 30.0

35721320/2 tnhuurluglr\ UU hutn 20000 I 20.0

3r15tt20/2 Utrntgrftuhuurpp uu hurtn 10000 1 10.0

44322100/2 Uulnrlu uu rlhtnp 200 T2 2.4

443221.00/3 thulnrlu uu rihup 200 I 0.2

44322700/4 h1rftu1ntfu 2x4 \1np uu ilhurp 700 45 31.5



44322700/5 hlrlurlnrlu 2x2,5 \1np uu rlhrnp 350 100 35.0

44322700/6 h1 ilurlntlu 4x4 uu rlhrnn 1000 20 20.0

31221220/2 Snufnlurlmlulrhurilurp UU hurur 400 6 2.4

30217790/2 Uh&trur\urhhuniur\urp qfrl sz hurtn 2ss800 I 255.8

30232730/1 sqt': q2 hunn 131000 I 131.0

30239r30/2 Srqirl purqtf urQnrh\glrnhurl q2 huln 150000 4 600.0

30239r30/3 Sqlr2 lurqhpur3|rh uurppfr hp\\nrpfuh]r SZ hurur 180000 1 180.0

42171210/2 Uurr hh hnhuturl ururjulh UU €urn.rI 12521 2.16 27.045
3r7rtt60/r h1n\urpn4 riu hrurn 180000 I 180.0

24321660/46 Zhnnurq hbilnhnhhnnurur qt qnull I12 500 56.0
24321660/47 Shhruqhrrrurilhn CT2 qFtuil 184 500 92.0
24321660/48 I.q nd urt hnhurhurpranr s2 ilt 352 s00 176.0
24321.660/49 N, N-'Ihilhph r urtfhl-rnhphr uLthl: s2 rJr 680 100 68.0
24321660/50 N,N-rlhrlhBhr hh+nurq hh qt qnuril 9000 4I 45.0

24321660/5r Utrahrhhnnurqhb s2 qnulL[ 1240 25 31.0
2432t660/s2 3-Zhnnopuh phhqnurt urtrrarant sz qnuril 420 100 42.0
24327660/53 3-2hnnopuhphhqurr nhhhn qz qnur-[ s80 100 58.0
24321660/54 -) hhhnuhhh hhnnrurn >99olo qZ qnuril 10600 25 265,0
24321660155 I-hlrnt turraro nt- 9 9o/o q2 Ul 2950 100 295,0
24321660/56 Snh$hLhr $nu$hur -97olo s2 90000 I 90,0
24321660/57 P, P-alrp1 np$hLlrl $nu$|rh 97olo qt Ut 320 500 160,0

24321660/58 h1h\rnpru\urtr uurfr\ pfrtifrur\urh
burEtnrrraml

qz Zurur 800000 5 400,0

3r7rr330/t .{uhmnrf ulnilru SZ 2urur 220000 3 660,0

33141211/l I-urpnprurnnp 2rnuruf rl qz Zurtn 20000 15 300,0

3831 1 100/1 h1hlqtnpnhurlfb!2hnp uu Zurut 80000 I 80.0

3831 1 100/2 h1h\urpnhurlf h\2hnp UU Zuln 200000 I 200.0

24321440/7 € urgurluurppnr- uurn grul frh q2
hq 1000 80 80.0

24321660/59 Uqnurru!urhppnr q2 hq 1400 30 42.0

24321660/60 Uhurqlrplnplr4 q2 bq 15000 25 375.0
24321660/61 Unurlalanr SZ Lq 800 350 280.0
24321660/62 Uhrahrhh prnnhn s2 Irq 1500 50 75.0

24321660/63 [Inurraonl q2 Irq 300 90 27.0
24321660/64 .{ubnrnrrf lnrrl qz 2200 40 88.0

24321660/65 DbrlpuLurh BBnt q2 Vq 300 70 2r.0
24321660/66 hrahrhh qrhLnr q2 1s00 40 60.0
24321660/67 'TInr hr.Ihnurrhh unrl urt s2 2rurn 50 1000 50.0
2432r660t68 Lulnnhntilh ptnnh+h lnrbnrlB 31 sz 1300 3 3.9
24321660/69 Lulnnhnulh prnnhnh rnr-bnr-rB 3r qZ 600 I 0.6
24321660170 trurt hnul ruEhruraratl urL urh q2 rra 1500 150 225.0

2432r660n7 'Ihrihrahr kBurhnr urilhh q2 L 3600 300 1,080.0

24321660172 Uurraur1a1anr SZ rrq 6000 150 900.0
24321660n3 Uhrahr rrnnurrhh qz rrq 60000 200 12,000.0
2432r660n4 Sntnrlt q2 L 1500 250 37s.0
37531730/7 I-nruurilr{rnr}rutqurhlr uu huru 10000 1 10.0

24321660/75 Shq. rnrbnrrrd uu L 700 10 7.0
24321660/33 Lppur2hptn ppnrf mnnqp*$Iuut tr

BhBhnhhn

qt Sttt I 10000 1 110,0

30277200/r 'I3 nrpur\]rp hunlur\urpqfr2 s2 hunn 350000 3 1,0s0.0

3922LL30/t trrudurh 50rlr rurn&n hhrnrl riu Zruut 800 12 9,6

3922t730/2 trudurh 600rlr nurn&n hhrml uu Zruur 2000 6 12,0

3922tt30/3 trudruL 3000ilr qurbn trhun{ UU Zurtn 9000 4 36,0

3922t730/4 trrudurh 50rlr qurbn hhrnrl uu Zuru 600 4,2



39221.1301s trurdurll 100rI1 ourbp hhznrl uu Zrurn 800 5 4,0
39227t30/C trurdurt 50tlt qurbn hhznrl UU Zurur 1200 J 3,6
39221130/7 trrudurt 600rlr qurEn hhrnrl uu Zurn 2000 ) 10,0

3922tt30/8 trurdurll 600111 purpfir tthznrl uu Zuln 2000 2 4,0

39221130/9 trurdurh 1000rlr qurbn hhtml uu 2uln 2500 6 15,0

39227130110 trurdurL 2000rlr qurbn hhrnil uu 2rurn 5000 3 15,0
39221.130/11 Q1 urh 10il1 urulurhtrunrnhlnrl uu Zunn 800 3 2,4
39221.130/12 Qturh 25rlt ullurhturnnhtnrl UU Zurur 900 3 2,7
39221.130/73 9t urh 50rlt uluurhturnurhbnrl uu Zuru 1000 3 3,0
3167rtoolt 9lnpurhurur.u\ \npur 1000ri1 3 rnnrp.

29/32-r4/23
uu 2urtn 7000 2 14,0

3167rtool2 9lnpurhururur\ \npru 3000rI1 3

lurrrte.29l32-I4/23
uu hurur 13000 4 52,0

3167L\OO/3 Itt nnurhruururh Lnr pur 50tfr 14l23rrh$nrl uu hurur 1200 3 3,6

3t677LOO|4 Qlnpurhururtull l1n1pru 700nlt I4l23lrh$nrl UU hurur 1500 4 6,0

37671100/5 trnthqhhh tnrpur 2500rJr uu huru 8000 2 16,0

33LtL2tO/t Surhdhh N3 90ilr uu hunn 500 5 2,s

33tll2tolT Surh&hb N0 UU hunn 300 5 1,5

39221420/t fu nq ruhurb rhnn &urhnBhrfhb uu hrutn 500 10 5,0

39221420/2 fu n q ruhult ft nn d,urhnrahthnpn uu hurur 300 r0 3,0

38s9120O/7 'tlhur hur rhnrhntuurh urh bull urr h 1 0- I OOrilr r uu Zunn 25000 2 50,0

38s91200/3 qlhulhu Qruuurhnhr:lt uruurrltuuh 3tlr uu Zurur 80 30 2,4

3843L720/1 Ourqpurllurl 0-200 rilrr (+hrthL) uu Zurur 6 2000 12,0

3859L200/2 2urqurp d=7.5uil uu Zurtn 1000 7.0

38s9t2OO/71 2ruqurn d=7.5url rut uruunluruh uu Zuln 700 3 2,1

38591200/3 2urqurp d=lOutl UU Zuru 1000 n 7,0

38s97200/4 $httnn Cnurh d=4uri uu 2urur s250 10 52,5

38s972O0/5 2ruqurn d=4urf uu Zrurn 400 4 1,6

38s91200/6 2urgurn d=6urf UU 2urur 700 4 2,8

38s91200/7 turgrun d=9uriut t urutntiurut uu Zurur 800 3 2,4

38s9t2OO/12 2ruqurn d=5 urft:l t ururntf urut uu Zunn 200 3 0,6

38591200/8 2urqurppurdurhlrl .{'}-3 500ri1 ft ntrnr-u) uu Zuru 7000 1 7,0

38s91200/9 2urqurppurdurlth) q'I-3 1000ri1 ft nhnr-u) uu Zurur 7s00 I 7,5

38'9L2OO/rc trudurhhl&urqun 2000ilr uu Zunn 15000 2 30,0

38s91200/r Lrururnhpnhhl uu 2ruur 1s00 5 7,5

38s9r2OO/2 Lrulunht urnnn qr tuhh htn UU 2urur 25 100 2,5

39241260/t flttrhrh L-145ilil, Wites uu Zurn 2000 3 6,0

3924L260/2 Orhhl|r L-200ilil, Witeg uu Zuru 4000 3 12,0

38s9oooo/1 Ulrurhqulil ururul phplrpnLlrl-urulurpuru
MC-2 ilhLnntnnrlhhrurlurn

qz Zuru 250000 I 250.0

38s90000/2 huln$frpulutd - 1 1 irp\urpbpurtlnrgfr2n{
(130rir)

s2 Zunn 220000 I 220.0

38s90000/3 Uuqtrlruru\urh luurnhlr2fr riurqhfru 2uil qz Zuur 2000 2 4,0

38s90000/4 Uurqhfuur\urh luurnhlr2]r rftuqLfru 3uri qz Zrurn 3000 2 6,0

38s90000/5 Uurqhfruur\urh ]uurnhfr2 q2 Zuln 80000 3 240.0

39L2LLOO/L Qnuruhnurh 2 ruurhrunurLhlrnrl rhnpn uu Zturn 50000 1 50,0

39L2LLO0/3 9puruh4urh 2 tqurhurpruLhtnd rlhb uu Zurur 100000 I 100,0

39121_LO0/2 $puruh4urh l ulurhurpurLhtnrl uu Zurur 40000 4 160,0

39ttLr81/r Upnn qpuruhh3ur\ur3|rtr \*Z.lh
u;urur.nurnnr]

UU 2urtn 11000 15 165,0

391.rtt81/2 Zntnr]urtun]nn rupnn uu 2rurn 30000 2 60,0

39138310/1 trurq\urpnn qruruhb3urlu1f h \ur2rlt
ulurutnurnnd

uu Zunn 60000 1 60,0



4442320011- Uuurlrdurh uu Zuru 25000 1 25.0
397L1t40/t Uurnhurpurh thhqunuthb qz Zrurn 220000 1,540.0
397L1.140/2 Uurnhurnruh thhqurnurthh q2 lurur 250000 I 250.0
424ts220/7 UurrrurL 2 urhhrlurhh uu Zrutn 25000 I 25.0
44221100/1 'tlulnnr-hurh urt t nrdhhh qz Furn.il 39050 49.4 7,929.07
44227L00/2 Llhqunnull ur2rnru urh qurhq SZ €urn.rl 7700 1,3 10.01

44221.100/3 tlnu urttmrlhhh s2 €run.rI 48000 13,9 662.4
44192300/t 'Tlunnnr-hurhurgnq ul t ruurnhhh qZ q/il 6300 20,64 130.032
4441.1740/1 9nrqurprutrur!nhp UU Zunn 30000 2 60.0
442271,40/1, O4urhouh rrltrurh 30x40 ur.I uu 2uru 3000 1 3.0
38311100/1 trrhnp turFnnrurnnn MAX 250q qz 2urur 400000 I 400.0
3837t100/7 hhhupnhurrlrh \2hnp 12-20hq q2 2urur 20000 I 20.0

222OOOO0/t Unurlnu uu Zuru 200 129 25.8
222OOOOO/2 Qnrnu Unrfhhhh uu 2urur 200 26 5.2
222OOO0O/3 Zurluruururhlr trd2! uqfrtnnrplnrh uu Zu.ru 1800 2 3.6
222OOOOO/4 Zurlururnurhh thhuurpruhurhurh Zurhnhu uu Zuln 1800 2 3.6
22200000/5 Zurturuuurhhh €htthurhurh Zurhnhu uu 2unn 1800 2 3.5
222OOOOO/6 dntnhrur or2thl luhilhh uu Zurrn 27000 6 t62.O
222OOOOO/7 dnrphurl opqurhflhullnr luhtfhh uu Zunn 27000 6 t62.0
22200000/8 $urnrlurqhur uu Zuru 22860 4 9t.44
44221.1.1.1./1 Otuhh llurhnqpfr uu hunn 150 70 10,5
44221.14r/L Vurhmlplr pnhur! u1 uruuhlth UU hurur 130 80 LO,4

44331.400/1. Urrnrtlhhh utnn$ht l-l-ur&h UU hruur 700 3 2,7

44531,710/t 'Ilrnnr-uur! rhurtrnh' UU hurtn 5 3500 17,5

39rsr221/1.
'Iurpur\]r quhlr2trhp
\|ruunihurur4ur!urh uu hunn 7 200 1..4

3975L220/2 - Oq nnnnhl chnhtr unlnn 45x4oo UU hurur 1150 40 46.0
39!51220/3 LurdhtrurqUub'IU.II 3660x1830x18 ilil UU hurtn 32000 12 384.0
391st220/4 Lurtlhhurqd urb'tl'{/|"l 2800x2 070x3 r-ltf UU hurur 9000 5 45.0
39151220/5 Uhrlurhurburbh 3660x600x26 ilrf UU hruu 30000 6 180.0
39rs!220/6 bqnurzhnu ll BX 22x0,4drl UU Uhnn 150 405 60,75
39151220/7 9urhntlpJr bqurtluu (dnn) silrl uu hurtn 40 70 2,8
42921290/1 trurn&n dtrrriurh qurqh h urnqullnnhl qz hunn 60000 t 60.0
44423240/1 Uurnhdruh uu Zurur 26000 I 26,0
32550000/1 Zhnurhnuh uruurnruu q2 2rurn 5 8000 40,0
24321660/92 Untrhurh zhdnr-burr hh urr rnulhh q2 ilq 50 4700 235,0
24321660/93 (-) - hlrllnulrh q2 tir 4300 100 430.0
2432L660/94 2h+nurqhh hhnnurtn s2 L 6000 20 120.0

24321660/82 Lhrtnht qurhfhhn q2 Zrurn 200 100 20,0

24321660183

.{ru\nuiurlf h Qf lurpriurh urulupurtn
500tir

q2 Zurtn 21000 1 2r,0

24321660/84
Orprpur&ur1trur3|rh ri*pport uurpp 600ri1

brurlurtnrl
qZ Zunn 35000 I 35,0

24321660/85
'ttnft fpf lhhtulf h o1h$Frur1|rh

Lulhurnhlhhn rlhurrhhnh hunlun
q2 Zurur 25000 1 25,0

24321660/86 Lhrrntrh rlhtipnurhurrhtr $hr urn qz Zurur 150 100 15,0

24321660/87 Uhhnurturthh onurhnrl rlhurrhhn sz Zunn 10000 1 10,0
24321660/88 Urrnr-rihhh tnhqhrbhn q2 Zunn 1300 500 6s0.0
24321660189 Otrrnnur&urhurhh nurnhhp qZ Zunn 125000 1 125.0
Ournulnrplnr-trtrtp 49,878.46
6s21 1 100/1 $urqlrptu2|unrtf uu nnuru[ 9332200 1 9332,2

6531 1 100/1
h1h\urpur\rutrmplurh pur2]unuf uu 4puril 2024t00

0

1 2024t,0



65111100/1 futlttnr qnh purrhnul uu nnrurl 3537000 I 3537,0

64211700/7

Zuhpurl I L]hnur]unuurl frh
burnurlnrplnr-htrhn

qz 'Ipuril 2756800 I 2756d

s031 1 120/1 huliur\rupqlu{hh uurpphp}r
rqurhulurhr.f urh h tlhpurtrnpnqrlurh
burnurtnr-ratnthhhn

uu 'Ipull 720000 I 720,0

9051 1 150/1 Uryh rhnluur4pilurtr 8urnurpr-plnrhhhp uu 'IpurtI 9s1700 I 95r,7

7998rr00/7 purdruhnp4urqpriurh burnruSnrplmhtrhp UU 'Ipunl 957900 I 9s7.9

72611100lr hurilqr\urpq:u{hh uhfu hf \u\url:
odurhnurL ilurh burnrutnrratnr-hhhn

uu 'Ipull 900000 1 900,0

60411200/l Urllrurtnntfu uu 'Ipuril 100000 I 100,0

60477200/2 Urlfrulnnrlu uu 'Ipurtl 150000 4 600.0

48761100/1 hru\unlfrpnruurl|rh hurilur\rupq2ur3frb
bn urqnrur htr rhrurat rahhn

uu hurtn 12000 40 480.0

79821770/7 Srqruqpur\urh h
urnurprlurhEurnurl nrplnrhhtn ft nurhruhq)

uu hurur 10000 70.0

79827770/2 Suluqpur\urh h
urnurprlurhburnurlmBlnrhhhn ft nruhruhq)

uu huru 6 2500 15.0

79821170/3 - Sulurqpru\urh h
urnurpilurhEurnurlntplnrhhtn ft nurhruhq)

uu hurur 10 1000 10.0

85141300/1 'Ihrlurqnpbru\ruhbrunur3nr-p3nrhLrhp qz hunn 72 100000 7200.0

85747300/2 'Ihqurqnpbur\rutrburnur3nrpl nrhhtp s2 hunn 20 2s000 500.0

85141300/3 'Ihrluqnpbur\urhburnurlnrplmhhhp s2 hurur 3.7 10000 37.0

72267770/l O'purqpurl frhruulurhn rlriutrbrunul nr-p1 nthh
hn

uu huln 20000 2 40.0

7226111012 Opruqpurlirhuulurhnrlr.f ruhEurnur3nrplnr-hh
tn

uu hurur 10000 I 10.0

76131100/r $urqruu ulurn rlurhhurilur\urp qlru hlutrlrur\
ru! rutrurq uruurnt tturhEurnurl ntBlnrtr

uu rlpuril 94856 I 94.856

773rr2001r SurpurEpfr purph\urpqriurh Eurnurlnrplnr-l: uu Zrurn 150000 I 150.0

773rr200/2 SurpurEplr purph\urpqilurh burnru3nr-p3nrtr uu Zuru 50000 1 500.0

501 1 1260/t Zhrlnr-\ ruqmn urpuu4frnrl uurFph
rlhnurhnnnqnul

uu Zurtn 25000 I 25.0

77311200/3 trnlnrrlurqbfr rlurpptlurh Erunurlnrplnr-l: uu Zurur 200000 1 200.0

77311,200/4
Uurnhurpurhbhp[ rlhpurhnpnqrfurl:
burnurlnrp.1nrh

uu Zrutn 200000 I 200.0

99600000/1 Urr burhutn q20 tlnurrl I 900000 900,0
cL'IUtIbIC 123,873.702


